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    ( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 80% ) 
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Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[ Ã̋[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 

%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[ Ã̋[˝ Âl˘‰y X∂ëˆÃ[˝ ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰ ¬̀Ã[˝ 

]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 

Special credit will be given for precise and correct answer. Marks will 

be deducted for spelling mistakes, untidiness and illegible handwriting. 

The figures in the margin indicate full marks. 

◊[˝\ˆÁG - Eı 

Group – A 

 Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰ ¬̀Ã[˝ =w¯Ã[˝ ◊VX*  

 Answer any two questions. 18 × 2 = 36 

1. 1788-89 ÂTˆ Z–ıÁ„≥aÃ[˝ aÁ]Á◊LEı C %UÔÍX◊TˆEı aeEıªRÙO Eı›\ˆÁ„[˝ ZıÃ[˝Á◊a Ã[˝ÁLTˆ„‹óˆÃ[˝ Ã[˝ÁLÍX◊TˆEı 
aeEı‰ªRÙOÃ[˝ YU Y“`ÿôˆ Eı„Ã[˝◊ªK˜_ ? 

 How did social and economic crisis of France pave the way for the 

political crisis of the French monarchy in 1788-89 ? 

2. ÂX„YÁ◊_Ã^„XÃ[˝ aeïıÁ„Ã[ Ã̋[˝ ◊[˝[ Ã̋[˝S ◊VX* %ÁY◊X ◊Eı ]„X Eı„Ã[˝X Â^ ÂX„YÁ◊_Ã^X AEıc˜Oa„Ü ◊[˝Y¿„[ Ã̋[˝ 
=w¯Ã[˝Á◊W˝EıÁÃ[˝› C ◊[˝Y¿„[ Ã̋[˝ W[˝eaEıÁÃ[˝› ? 

 Describe the reforms of Napoleon. Would you agree that Napoleon was 

both the heir to and destroyer of the revolution ? 

3. c˜Oe_ÓÁ„≥QˆÃ[˝ “̀◊]Eı‰ “̀◊SÃ[˝ L›[˝X^ÁyÁÃ[˝ ]ÁX ◊X„Ã^ B◊Tˆc˜Á◊aEı ◊[˝Tˆ„EÔıÃ[˝ ]…_ È[˝◊`rÙÓm◊_ %Á„_ÁªJÙXÁ 
EıÃ[˝”X* 

 Discuss the main features of the historical debate on the standard of 

living of English working class. 

4. Y“U] ◊[˝ ǜ «̂à˘ ◊Eı %[˝W˝Á◊Ã[˝Tˆ ◊ªK˜_ ? 

 Was the First World War inevitable ? 
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◊[˝\ˆÁG - F 
Group - B 

 Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰ ¬̀Ã[˝ =w Ã̄[˝ ◊VX *  
 Answer any three questions. 12 × 3 = 36 
5. ae◊[˝W˝ÁXa\ˆÁÃ[˝ EıÁ Ô̂Á[˝◊_ ◊Eı ]…_Tˆ [ «̋„L¤ÁÃ^Á ÿëˆÁUÔ Ã[˝l˘Á Eı„Ã[˝◊ªK˜_ ? 
 Did the works of the Constituent Assembly protect the interest of the 

bourgeoisie ? 
6. LÁ]ÔÁX BEıÓ Y“◊y‘Ã^ÁÃ^ "Ã[˝N˛ C Â_Ïc˜' X›◊TˆÃ[˝ ÂU„Eı "EıÃ^_Á C Â_Ïc˜' X›◊Tˆ ◊Eı Â[˝◊` aZı_ 

c˜„Ã^◊ªK˜_ ? 
 Was German unification achieved more by 'Coal and Iron' than by 

'Blood and Iron' ? 
7. 1830 aÁ„_ Z–ıÁ„≥aÃ[˝ L«_Ác˜O ◊[˝Y¿„[ Ã̋[˝ mÃ[˝”±ºˆ C Zı_ÁZı_ Eı› ◊ªK˜_ ? 
 What were the importance and impact of the July Revolution of 1830 

in France ? 
8. Ã[˝Á◊ Ã̀^ÁÃ[˝ ◊`îÁÃ^„X Ã[˝Á‰r—ÙÃ[˝ \…ˆ◊]EıÁ Eı› ◊ªK˜_ ? 
 What was the role of the state in Russia's industrialization ? 
9. [˝Á◊_ÔX a◊µ˘ (1878) ◊Eı [˝_EıÁX LÁTˆ›Ã^TˆÁ[˝ÁV›„VÃ[˝ %Á`Á Y…SÔ EıÃ[˝„Tˆ ÂY„Ã[˝◊ªK˜_ ? 
 Did the Treaty of Berlin (1878) satisfy the Balkan nationalist 

aspirations ? 
10. Y“U] ◊[˝ ǜ «̂„à Ã̆[˝ YÃ[˝ Z–ıÁ≥a Eı›\ˆÁ„[˝ TˆÁÃ[˝ ◊XÃ[˝ÁYw¯Á ◊X◊∏JÙTˆ EıÃ[˝„Tˆ a‰ªJÙrÙ c˜„Ã^◊ªK˜_ ? 
 How did France try to ensure her security in Post-World War-I period ? 

◊[˝\ˆÁG - G 
Group - C 

 Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªRÙO Y“‰ ¬̀Ã[˝ =w Ã̄[˝ ◊VX*  
 Answer any four questions. 7 × 4  = 28 
11. ZıÃ[˝Áa› ◊[˝Y¿„[˝ Ã[˝”„`ÁÃ[˝ Y“\ˆÁ[˝ EıTˆFÁ◊X ◊ªK˜_ ? 
 How did Rousseau influence the French Revolution ? 
12. "Â&X›Ã^ l˘Tˆ' [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? 
 What was the 'Spanish Ulcer' ? 
13. %ÁXÔ∑Qˆ ªRÙO„Ã^X◊[˝ Eı›\ˆÁ„[˝ c˜Oe_ÓÁ„≥QˆÃ[˝ ◊`î◊[˝Y¿[˝„Eı [˝ÓÁFÓÁ Eı„Ã[˝◊ªK˜„_X ? 
 How did Arnold Toynbee explain the Industrial Revolution of England ? 
14. "XÃ^Á aÁ∂ÉˆÁLÓ[˝ÁV' Eı› ? 
 What is 'New Imperialism' ? 
15. YÓÁ◊Ã[˝a Eı◊]=„XÃ[˝ %\«ˆÓxÁX H‰ªRÙO◊ªK˜_ ÂEıX ? 
 Why did the Paris Commune uprising occur ? 
16. ◊c˜ªRÙO_Á„Ã[ Ã̋[˝ YÃ[ Ã̋[˝Ár—ÙX›◊TˆÃ[˝ ]…_ =„ï`Óm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 
 Discuss the main aims of Hitler's foreign policy. 
17. "ÂaÁaÁ◊_L] c˜OX CÃ^ÁX EıÁ◊≥ÆœÙ' [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? 
 What is meant by 'Socialism in one country' ? 
18. "Â^ÏU ◊XÃ[˝ÁYw¯Á' [˝Ó[˝ÿöˆÁÃ[˝ ◊[˝Y Ô̂Ã^ [˝ÓÁFÓÁ EıÃ[˝”X* 
 Analyze the collapse of the 'collective security' system. 
    


